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1 Using matrices solve the following system of equations:

2x-y+2z=32x+y+z=-1;x-3y+2z=06.

2 Uﬁing matrices solve the ﬁ}llm-\fing system of L‘.quatiunﬁ:

3x-y+z=5-2y+3z="x+y-z=-L

3 Using maftrices solve the following system of equations:
X+2y+z=L2x—y+z=53x+y-z=

4 Using matrices solve the following system of equations:
X+y+z=3;x-2y+3z=2;2x-y+z=2.

3 1
5 Show that the matrix A = [_1 5 |J satisfies the equation AP 5A + 71=0. Hence find A
6 Solve forx, i : —+;+E—4'i—ﬂ+§:1;ﬁ+g—§—2
X ¥y z X oy oz X y oz
7 Using matrix method solve the following system of equations for x, y, z;
E—§+E 10; l+1 l =10; E—l 3_13.
X Yy =z X y z X y =z

8 Using determinants, find the area of the triangle whose vertices (-2, 4), (2, —6) and (5, 4).
Are the given points collinear?

9 The points (3, -2), (x, 2), (8, 8) are collinear, find x using determinants.
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10 |rfa={2 -1 ,ﬁI‘ldAzﬂndsl‘iﬁ‘nﬂn-'thalt;‘ﬂl2=z‘ﬂl_1

11 | IfA= 3 2|-| and B = 6 7 |-| , verify that (ABY " = B'A™.
7 sl s 9l

12 |wa={® P ﬂ,ﬁndl AadiA) .
¢ d]
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13 For what value of x makes the fnl]uwing pairs of determinants {e.c[ual?

2x 3| |16 3
5 x|"|5 2/
14 2 1]
Write the adjoint of the matrix | , 5 |-
15 | Aisa square matrix of order 3 and |A| = 7. Write the value of |adj A| .
16 x 4
Find the value of x, from the following: 2 9y =
2 3 4
17 | Write the value of the determinant |5 6 8
6x 9x 12x

18 If A is an invertible matrix of order 3 and | A| = 5 then find |adj A

19 ¥+2 3| . :
[f ¥+5 4‘_ 3, find the value of x.
2 -3 5
20 | Find the cofactor of a,,in the following: 6 0 4
1 5 -7

sin 307 cos30F

21 | Evaluate: _sin60°  cos60°|”

2x+5 3

22 If =0, find the value of x
5x+2 9

2cosf -2sinB

23 | Evaluate:
Vatate sinf cost

24 | Using matrices, solve the system of equations:
2x=3y+5z =11
3x+2y—-4z = -5

x+y—-2z = -3

25 | Using matrices, solve the system of equations:
X-y+z =6
X +2z =7
x+y+z =12
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1 1:—]:‘}};:—] =2 2 1-:]’_!1,1:_1’2:]1 3 lz]!.!.lf:_]-rzzz'
4 |x=1y=1z=1 5 |12 -1] 6 | x=2,y=3,2=5
711 3l
7,1 1] 8 -2 4 9 ||3 21
S 3'7 5 Arec:E 2 -6 1|=35sq.cm x 2 1|=0=x=5

5 41 8 8 1

12 | |Aadj A) | = (ad=be)* | |13 | =16= x=+4 14 L,dih__ lﬂ

-4 2]

15 | |A]f =7* =49 16 | 2o gy—sn 17 | o.

18 | 25 19 | x=10 20 | 46

21 |1 22 | x=-13 23 |2

24 | x=1,y=2,z=3 25 |x=3,y=1,z=2
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